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(Ip ••Ai1tu ~ JDIQ.j'" ~'" Qr
@)i;i" 615I""rr~ Qi"rr(lliLiLj Gi"ITQ.jQi"rrL""(Ili6lJi"JD(Ili 15 ~uSiL"""'I5"(Ili (lp6irr""i!'rr", 615I<jIior"",uui!'rrVIT"'\58;(Ili 6lJlJ)""",uu@lb.
@Jf>iii615I""rr:iiGi"rr(lliuLj 100 615I""rr"",..,,,, •• Q",rr6ioT(j)m"'i!JI_ 615I""LlUffiI"", QlDrrL""(Ilj(Ip6irr @ru615l""rr~Qi"rr(lliuLSI", ",,,,,,,rr
615I""rr""'\5Lil 6lJiII"""'lUrr"'@LLil QUJDg)Jm"'",,6lJrr ",GlliJ""i"lLjLil @..,ucil", ~i!JILilQ6lJJDg)J~rrm",ffi "-.m"'",,6lJrr ",6irru""i!'lLjLil
",illurrIT~i!JI" Q",rrm"'Q.jLil_ ~WJLil (Ili"'IDurr(j) @Ql)uLSI"", ~i!'''''''' u~ )bluSlL"""'~(IliQr ~""ID",6ioT",rr...ftuurr",iIILLil
QlDiII615I~, ",tIllUrr", "-.Qr'" G6lJQIDrrQli 615I..,rr~ Qp;rr(lliuLSI..,.., QUJDl!)I" Q",rrQr'" G6lJ""(j)Lil. ~ITQ.j Qp;rrL",,8JlU LSI""Lj,
(Ip"'IDtcilLLrr.u 615I..,rr~ Qp;rr(lliuLj LDrrJDJDI~i!'VUUL LDrrLLrri!ji.
<DTQ>QHT 61Sl6OTrrd;$~$@)Lbrul601LWffi18;.$Q.jLD. <DTQlQ)rr 6B~HT8;$~Lb d'LDLDIT6"GT LD;$h.JQu~$Qr Q.g;rr6lforL6IDQI.

iL"""'\5""LlU u%1Q.j ",6ioT"""", @)i;i"u u""'~%1"" 6lJ"'i!JI Gw", (Ip""",tcil", ~i!'JDQ",.., ~""LD)i;i!JIm", @L~%1'" )B""",m
"'Q!'i" G6lJ6ioT(j)Lil_G6lJg)J "'''''i!'lLjLil 615Imrr~ Qi!'rr(lliuLSI", "'Q!'i"" ••. Lrri!JI.
615I"'L"'''''''' (Ilii!51~i!JI",rrL.L ",m, 615I"'L~i"rrm ",6irrg)J"-."""'\5"(Ili ~""lD" ",6ioT",rr."fiuurr",vrr", i!'vuu(j)Lil_
"-."""'\5""LlU 615Imrr:i;Qi"rr(lliuLj ",6ioT"""", (Question Booklet Number) 615I""L:i;i"rrffil6irr @v6ioTLrrLil u""':i;%1'"
~':;;JDQ",m ~""w)i;i!JIm", @L:i;%1'" rtwLil """'W~I "'Q!&'1LD rfi!rv ""LDlU""LlU uri;~";!R""""u Gu""rr615l""rr", (IliJDI~i!JI"
",rrL.L G6lJ6ioT@Lil_ GWJD",6ioTL6lJJD""ID 615I""L:i;,:;;rrffil", ffi""",m (IliJDI~i!JI" ",rrL.L~ i!'6lJJDI""rr", Gi!'IT6lJrr"""",lU
~i!516151••""",uSl", (IliJDIuLSlL(j)m"'6lJrrg)J )DL6lJLq.••""'" GWJDQ",rrm",uu@Lil. -
~6lJrr6 615I6OTJTQ.jLil(A), (B), (C) wJDi))JLil(Il) "'"" )Drr6irr(lli615I""l...IWlGlT"Q",rr6ioT(j)m"'i!JI_ffi",,1Jiffi~~'" "'C:V ~ ",illlUrrm
615I""L""lU,ii G,:;;ITQ.jQ"'lUi!JI615I..,~rrffil", (IliJDI~" ",rrLL G6lJ6ioT@Lil.~g)J~ GWJDULL ",illlUrrm 615I""Ls;m ~ GIJiffi~
@e'?uu,:;;rr"", ~mrr", )B""",m uSI"" ",illlUrrmi!JI "'''''g)J "'~ ~.$1iDIT",c:mrr ""~ 615I""LmlU 615I..,~rrffil", (IliJDI~"
",rrLL G6lJ6ioT@Lil_",uuLq.lUrruS1WJLil ~ GlJim615l~ ",av ~ 615I""LmlU~rr6irr G,:;;~)i;Q,:;;(j)"'" G6lJ6ioT(j)Lil."-.""~""LlU
Qwrr~ tn%1uQu6ioT",m )B""",m 615I""~rrffil,,, (IliJDI~" ",rrL0Lil ",illlUrr"" 615I""Ls;ffiI"" ",6ioT."fi"""'''''lUU Qurrg)J~.
615I""~rrffil,,, ",ruQ6lJrre'? c:,,;m615l ",6ioT."fiJD(IliLil"'%1i11", 0, @'@ wJDg)JLil@ ",m )!irr6OT@j6lJLL""",m "-.m"'6>T_ "'6
GlJim615l~ 615I""LlUffiI"", ffi""",m ",iIIQlU6>T"'C'?i!JILil615I""L""lU ",Gv ~ 6lJL~'" wL@Lil ffiwLil ~"'wi!JI "'e'?""W )bl1D
""WlLj"'LlU u)i;i!jJ (lJlrn""u GU6>Trr615lmrr", @ji!51~.. ",rrLL G6lJ6ioT(j)Lil. ",ruQ6lJrre'? GlJim615l"(IliLil lYe'? 615I""L""lU,ii
<:':;;IT)i;Q,:;;@~ 615I..,~rrffil", @jJDI"", G6lJ6ioT@Lil_;z.e'? GlJim615l8;@jlY6irrg)J8;(IliGWJDULL. 615I""LlUffiI~rr'" ~Ji;I" 615I..,L
i!'6lJjDrr6>T,:;;rr"","'C'?Ibuu@Lil_ "-Ibrrv"",wrr", ffi""",m (W "'6OTU..,,:;; ",illlUrrm 615I""LlUrr"", "'Qli%1""rr",' ~""i!' LSI""6lJe'?wrrg)J
@ji!51~"",rrLL G6lJ6ioT@Lil_

ffi""",m 615Imrr~ Qi!'rr@juLSl6irr "')i;i!'u u""',ii""i!'lLjLil )B8;",G6lJrr ~",wi!JI .$1k91"",G6lJrr ••. Lrri!JI. a':;;ITQ.j G)Dv:i;%1'" @)i;i!'-
615I""rr:i;Q,:;;rr(lliu LSI""""alU rr ~ ",wi!JI 6151..,L,iii!'rr""",alU ITG':;;ITQ.j8;"'L,ii"'i!' 6151L@ Q 6lJffiluSl", "'@,iii!JI" Q"''''W8;'''Lrr i!JI-
alb IT6lJ dfl "l-ri;1bLSl6irr rt """,m "-. "" "'I'i]!j"" LlU 6151""L~1b rr""'" " '" 6ioT'" rr."fi u u rr",ill LLil Q '" rrffi~~1 6151L a6lJ 6ioTGjlLil_
~ru615lmrr~ Qlbrr@uLSl..,,,,,~ albIT6lJ Q;P"l-ri;Ib6lJL6irrrt""",m "-."""'I'i]!jL6OT "'ffi~~I" Q",,,,wwrrLil_
(IliJDIULj"'Qr "'Q!'~u urr~uup;JD(Ili 615Imrr~ Qi!'rr(lliuLSl"" "''''L61U u""':i;~JD(Ili (Ip"" "-.m", u""'~"'i!' ,,-uGlUrr8J~i!ji"
Q",rrm",wrrLil. @""P;~ i!'615IV, 615Imrr~ Qp;rr(lliuLSI"" "')iii!' @L~~!l}JLil "')iii!' 615110(IliJDIuLj"''''''''lLjLil Q"'lUlU ••••. Lrri!ji.
@)iii!' ~ JDIQ.j"" v "''''' Lq.u U rr'" LSl6ilTu JiJ jDU UL G6lJ ""Gi ill.
""Ib"".i1w 6lJLq.6151'" Q '" rr@••",u u L@ffi", (IliJDIu Lj",m ,:;;rr6ilT(lJlLq.6lJrrmID rr@jLil.
6lS1~ mILl u ~ rrrJlTa;m 61Slm LW ffil $$ rTLnQ;' 2...m6fT Gfil00 IT.9>8>ffil6in Q LD IT~~ 6T6ffi 6ffi18;maim l1J 61Slm L~~rr ffil6in u 8;8HD 2 - ro
~i!'JDQ",m "-.illlU "'LL~%1'" "'Q!'%1 )1IvuuQ.jLil_ @':;;JDQ""""'@i!'wrr", 1B)i;i!JI)1IuSlL""",m 6lJl9""",uu@Lil_
a WJD",6ioTL ~ JDIQ.j"" v",ffiI '" '" ""':;;lUrr6lJi!JI illi!51""rr '" a,:;;IT6lJrr"" ""'lU Lil (Ip Lq.Q 6lJ@8;(IliLil )DL6lJ Lq.8;"""''''\5''@j "-.m ",rr '"
G)DiII@Lil"''''' ~i!51Q.jg)J,ii,:;;uu(i;i.iljDi!JI-
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1. The comptroller and auditor general of India is,
(A) Venkatesh Mohan

(C) Vinod Rai

(B) Anita Pattanayak.

..;JiIf'. Rajiv Mehrishi

2.

(A). G6tJri,JlJ;GL~ GlDITffi6irr

(C) 61S1G6MIT~ ~ITuJ

The head quarter of UNICEF is

$ New York

(C) Geneva

UNICEF -6irr ib6<lQ)6<llDUJffitD

(A) )bl\!;j,UJITrT8;

(C) G1Jloo\16tJIT

(B) <!9Ioo\1ibIT UL)!>ITUJ8;

(D) ~rrm6u QlD~r\l~

(B) Vienna

(D) India

(B). 61S1UJIT6irr6Mrr

(D) ~,riJ~UJrr

3. Which of the following released "Integrated Quarter Master Package" (IQMP) software
application?

(A) Indian Air force

'\/JII'f Indian Army

(C) Indian Naval

(D) Indian Coast Guard

"Integrated Quarter Master Package"

£W ffi.mL 6tJ JD!PIGir '" 6<l6tJ G 6tJ clI uS)L Q;1GirQT i9I?

(A) ~,riJ~UJ 61S1lDIT6MUU6<lL

(B) ~,riJ~UJ ~IT~6tJtD

(C) ~,riJ~UJ ffiLJDU6<lL

(D) ~,riJ~UJ ffiLGQ)rr~ ffirrGlJbU U6<lL
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4. The world's longest Rail Tunnel is opened by which country?

(A) England

(C) Ireland
(B) Spin land

" Switz~rland

(A) @ffiJ$lWIT)i>ifjI

(C) ~lUrTWIT)i>ifjI

(B) GillLSI.n W IT)i>ifjI

(D) Gill6lS1808' rTru IT)i>ifjI

5. The joint military exercise "AINagah-II" held between which two countries?
(A) India and Pakistan

(B) India and Afghanistan

.(IIIf' India and Oman
(D) India and Dubhai

"AINagah-U" 6f.n$l.nf!) ML(I,\ ~IT@lI6tJU uu51iD816f)i>::O@C'9)DIT(I,\ffiWITru Cl1lrDQffiITffiwUULLifjI?

(A) @)i>:5llUIT l1lrDIDJLDurr$lGill::orr.n .

(B) @)i>:5llUrr l1lrDIDJLDqj,uffirr6O\lGill::orr.n

(C) @)i>:5llUrr l1lrDIDJLD~11l.n

(D) @)i>:5llUrr 11lrDIDJLDifjIu rrw

6. Joint Working Group (JWG) on fisheries sefup between which t~o countries?
(A). Srilanka and China

~ India and Srilanka
(C) India and Pakistan

(D) India and Maldives

6f)i>::o@C'9 )Drr(l,\ffi\2!j8;$I""LClU ill.n 8'LDU)i>::OUULL 6lS16tJffirr~ffiJffi\2!j8;ffirr"" l£rru51ooL 9rT8;$lffiJ @j(llju (JWG)
"JrDU(I,\~::OUULLifjI?

(A) @ruffiJ""ffi l1lrDIDJLb O""rr

(B) @)i>:5llUrr l1lrDIDJLD@ruffiJ""ffi

(C) @)i>:5llUrr l1lrDIDJLDurr$lGill::orr.n

(D) @)i>:5llUrr 11lrDIDJLD11lrrru~~6lj

CUGSI19 4



7. Which bank gets RBI nod to open offices in Kuwait and Singapore in the year 2018 .

(A) United Bank of India

~ Federal Bank

(B) Axis Bank

(0) UCO Bank

'";:iii" 6UrbJ$1 2018-LD ""'IJ,ooQi1 @iGOl6UI!;LDJDf1)ILDIflrbJ,"ukj,rTl6iJ $lGOlm,"GOlml!; Gi!!iITLrbJ," rTI"frGiJ 6UrbJ$lu51LLD

c'>I@lLD~ GiuJDJD::9I?

(A)

(C)

lLjGOlGOfGLLGUrbJ8> ""'IJ,u @;:ii~IlJIT

GiUL~6iJ 6UrbJ$l

(B) ""'IJ,8>OO~ 6UrbJ$1

(0) \!d,C::ffiIT8JrbJ$1 -
8. When the dynamic payment system was implemented III Rajathani, Thurantho and

Shatabdi Expresses"
.(A)

~
(C)

(D)

August 2016

September 2016

October 2016

Novembei' 2016

~ITi'£!!iIT6Il11, ::9I~;:iiC::!!iIT LDJDf1)ILD "!!irru~ @~u516iJ,"GTfI6iJ GOlLGOfuSi8> ,"LLm (lPGOlJD ,"uGiUITC':P::9I

c'>IJJ5I(lP'"u U Qi11!;i"uU LL::9I?

(A) ""'IJ,,"QuL 2016

(B) Gi"ULLDUfr 2016

(C) c'>I8>C::LITUfr2016

(D) i56ULDUfr 2016

9. The first digitally operated and a programmable industrial robot is

..vtf" Unimate (B) l'vIaxII

(C) Elmer (0) Electro

"

(lP!!i6iJ ,"00 @1lJ8>," )£1~6\JIT8>~LJl.:JLLGi!!iIT~6iJ::9IGOlJD@1lJ;:ii~~ LD6Il11!!i6irr

(A) (Unimate) - \!d,6Il11GLDL (B) Max II - C::LD8>QuII

(C) Elmer - ,"6iJGiLDfr (D) Electro - ,"6\J8>LC::~IT
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10. Holography can be used in the formation of

.(JI/' three dimensional images

(B) two dimensional"images

(C) one dimensional images

(D) half dimensional images

(A)

11. Calculate the inter planer spacmg for a (3 2 1) plane in a simple cubic whose lattice

constant is 4.2 x 1O-10m.

'" 1.1A
(B) 2.1A

(C) 3.1 A

(D) 4.1A

4.2 X 10-10 Lfi ~6OOfl8;GffifT""QJ LDfTrD1Q\lLDiblULj QffifTOO"L 9<!9 GTffil""LDWfTm ffim "i9Ig~iblo;m (3 2 1)

i"m~ibI!D(Ilj ~0~i"0~i"@<!9 i"mri.Jffi~8;(Ilj @""c.:Gw "-.GlTm@""LQQJGTfI""W ffi-8;$10 .

(A) . 1.1A

(B) 2.1 A

(C) 3.1 A
,. .,(D) 4.1'A

CUGSI19 6



12. On which day Jawaherlal Nehru hoisted the tricolour of Indian Independence on the banks

of the River Ravi at Lahore?

. ..;/' 1 January 1930

(B). 26 January 1931

(C) 15 August 1947

(D) 26 January 1950

1£GU~ r'r6UITru G)1>(Ilj GT)i>:'V)1>ITclIru ~IT6lSI)1>:518;60)~u5I@IIfirffi 6UIT""-rI1ru@)i>:5IllJ8i:'V)i>:5I~ (lp GUr'r"""8; G8iIT"l-60)llJ

qriJ rDl6llTITr'r?

(A) 11£6llTGUrI11930

(B) 261£6llTGUrI11931

(C) 15 qj,ffiQuL 1947

(D) 261£6llTGUiTl1950

.13. Who was the Guru of Vinayak Damodar Savarkar?

~. Bala Gangadhar Tilak

(B) Gopal Krishna Gokhale

(C) Chapekar Bandhu

(D) Bipin Chandra Pal

..(C)/fITL5IffiITr'r u)i>1!jI

7 CUGS/19
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14. Which act empowered the constituent Assembly" fully 'Sovereign body'?

(A) Government of hldia Act of 1919

~ Indian Independence Act of 1947

(C) Government of India Act of 1935

(D) Indi"n Councils Act of 1909

~~/f"')LDUli ~""GlJ (Ljl(lj,'''''LDlUIT6m~""!1JlUIT6O'or""LDGlJITtU)iJ::o@GT~i'JI GT)iJ::o/fLub &L!!51lU@

(A) 1919 ~LD ~6O'or""~ ~)iJ~lU ~~lfi5/fLub

(B) 1947 ~LD ~6O'or""~ ~)iJ~lU Ifi::o)iJ~~5/fLLLD

(C) 1935 ~LD ~6O'or""~ ~)iJ~lU ~~lfi5/fLLLD

(D) 1909 ~LD ~6O'or""~ ~)iJ~lU /li6lj~816iJ /fLLLD

15. Which of the following are the federal features ofthe Indian Constitution?

1. Rigid Constitution

2. Bicameral Legislature

3. Office of the CAG

4. Collective responsibility

..i/ 1 and 2

(B) 1, 2 and 4

(C) 1, 2, 3 and 4

(D) 1, 2 and 3

£G:\9 QlfiIT(5i8;/liUuL(5imGlT""GlJlficll6iJ GT""GlJ/lim ~)iJ~lU ~~81lUQ)""lnUli &LLLITL81 @i_IT~/flUffiJa;""GlT.
Q /liIT6O'or(5im GlT@

1. Q)D$1\9.IT ::O~""LDlLImGlT~~81lUQ)""LDUli

2. Fr~""GlJ /fLLLD~!1JLD

3. ~)iJ~ lU ::O""Q)""LD8; /li_ 8;/lirTLD!Di'JILD::O~8;""/liib @""!1J ::o""mGlJrT

4. &LL(5iu QUITi'JIUli

(A) 1 LD!Di'JILD2

(B) 1.'2 LD!Di'JILD4

(C) 1, 2, 3 LD!Di'JILD4

(D) I, 2 .LD!Di'JILD3

CUGSI19 8



16. In 1993 the seventy fourth Nnendment Act says Municipalities handled

subjects.

~18

(B) 20

(C) 22

'(D) 24

JDa;~ITLSla;GiT 1993 o;DGfQgu!t~ JDIT6irra;ITlD~~~UJQ)6OlLDULj 8'LL!t~@!tib!t~6irr uLq-

.@""ffija;6Ol@T(u6llllfla;GiT)JD6OlL(lp6Ol!DUU@!tibGQJoo@Lb.

(A) 18

(B) 20

(C) 22

(D) 24

17. Which article of the cQnstitution of India deals w.ith the Administrative tribunals?

(A) Article 322

(B) Article 323

'" Article 323-A

(D) Article 324- B

(A) 61Sl~ 322

(B) 61Sl~ 323

(C) . 61Sl~ 323.A

(D). Q'iI~324- B

9 CUGSI19
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18. Which of the following state has a separate constitution of its own?

(A) Karnataka ~ Jammu and Kashmir

(C) Arunachal Pradesh (D) Sikkim

(A) ffiIT)DITLffiIT .

(C) c')j('9mITiFil'QJu c51~C:ibil'Lb

(B) 1>3LbC'P ffi IT6i<j.LEiIT

(D) 51li>ffilLb

19. How many recognised political parties were in India during 1952 elections?

(A) 4

~14

1952- Lb ""{boo(l)\

@('9)5ib6'T?

(A) 4

(C) 14

(B) 12

(D) 16

(B) 12

(D) 16

20. Eutrophication leads to the death of fish due to

(A) Increased 02 content

(B) Increased algae number

(C) Decreased algae number

¥ Decreased 02 content

"-ILC:~ITtSlC:ffiGl'fml6'TITciJ LEiml6irr @!DuLjIi>@) ffiIT~mCDITffi W('9uu!'jI

(A) ""{bIi>GnSll£ 6irr c')j GTT"'j' c')j:51 ffiCDIT6lJ ib ITciJ

(B) U IT51 ffi6IT oroo.,-,flli>."ffi c')j:51 ffiCDIT6lJ ib ITciJ

(C) U IT51 ffi6IT oroo.,-,flli>." ffi @)"'!D6lJibITciJ

(D) ""{bIi>GnSll£ 6irr c')j GTT6lj @)"'!D6lJibITciJ

CUGS/19 10

.,



21.' The formula of triple super phosphate is

(A) Ca (H2PO4)2.H2O

(B) Ca3(P04)2

.Jpr CaH4(P04)2

(D) K2SO,.2.MgS04 "

(D) K2S04.2.MgS04

22. Which of the following is a base "according,to Usanovich concept?

(A) S03

(B) Cb"

¥Na20
(D) Fe(CN)2

(A) S03"

(B) Cb

(D) Fe(CNh

11 CUGS/19
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23.

1 2

6

50,10 24

') 120

. (A) 560 /20
(C) 880 • (D) 960

1 2

(A) 560
(C) 880

6

24

. ~720
(D) 960

2,1. Sara baked cakes for the school festival. The cost of one cake was Rs. 55. She sold 25 cakes
and made a profit of Rs. lion each cake. Find the selling price of the cakes
(A) Rs. 1,'100 (B) Hs. 1,375
.;;If' Rs. 1,650 (D) Rs. 1,550

V'(fI)umffiluSk,lT 61Sl~IT61Sl!D/£IT/£if IfIT~IT, Ga;8; QlfuJi"ITm V'(fI) G/£8;41qr ~L8;/£61Sl6O>G\J(flj. 55 ~@ltO. ~QJm

V' GiJQ QJ IT(fI) Ga;8; 60>/£"-1 to . (fI). 11 G\JITU !i~!D@l 61Sl!D41 !D ITm . 2 5 G/£ 8;@l/£6O>GTT61Sl!DJDi(fI))iJi" IT6iJ. 61Sl!Du 60>6m
6l5160) Q..hillLU a; IT00.

(A) (fI) 1,400

(C) (fI). 1,650.
(B) (fI) 1,375

(D) (fI). 1,550

25. In a sim ultaneous throw of two dice, what is the probability of getting a total of 7?-tX 1/6' (D)' 1/4
•

(C) 2/3 (D) :3/4

W(fI) U/£6O>L/£m V'G~ IfLDUJ!i~6U dilfuu(ij\tO QUIT(':\'~. ""-(ij\i"6U 7 4l6O>L8;/£ ;£1/£\9i"'"6l.1 UJIT~?

(A) 1/6 (B) 1/4

(C) 2/3 (D) 3/1

CUGS/19 12



26. Find the compound interest on Rs. 16,000 at 20% per annum for 9 months 'compounded

quarterly

(A) Rs. 18,522

(C) Rs. 16,800

(B) Rs. 17,640

$ Rs.2,522

QJ(I9L ""-L(!) QJL"t 20% ",,&16' .@(I98;@jtDC:UIT~ 161T6\l1T",",(!)8;@jQJL"t 16"""8;ffi1Luu(!).$I!D~ or..ll6\)

(I1jUlTuJ16,OOO8;@j 9 LDIT~riul6\58;@j.$I"'L8;@jtD ""-L(!) QJL"t orQJQJffi6lj?

(A) (I1j. 18,522

(C) (I1j.16,800

27. Find the missing alphabets in the series:

A, I, P, V, A, E, ?

. (A) E

(C) G

QJrIl..,,,u516\)GlS1(!)ULL or<':9ii>"'~8;161T",",16:

A, I, P, V, A, E, ?

(A) E

(C) G

(B) (I1j.17,640

(D) (I1j.2,522

(B) F

.pf H

(B) F

(D) H

•

28. If P is a prime number, then the L.C.M. of P and P + 1 is

(A) p2+1 (B) P(P+ 1)

2

(C) - (P+ 1)2 .JJiIf P(P + 1)

P orQru~ 9(19 UI6ITor",", or..ll6\) P LD!D/PItDP + 1 ",,&.$IUJor",",I6\58;l6lTm LE.61.ui.(lcm) orGilTm?. .

(A)

(C)

p2 +1

(P + 1)2

(B)

(D)

P(P + 1)

2

P(P +1)
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29. STUDENT:MARKS:----------

(A) Teacher: Class

(C) Scholar: Book

(B) Pen: Nib

.., Waiter: Tip

(B) GU,,"IT: (LP""""
(D) ffiIT:'!;i5I<'9UUQJfr: "l-uQu

LDIT<mQJGirr: LDi5IuQuOO : ------ ------

(A) ~61rrltufr : QJ@)uu""JD

(C) ~~ITtUif61lUITffifr : Y:'!;~ffitil .

30. A bicycle marked at Rs. 1,500 is sold to a 1,350. What is the percentage of discount?

(A) 20%

.Itfl!f' 10%

(B) 15%

(D) 7%

•
31.

~ <'9 uSli5IQJ oo"l-uSl Girr 6lS1""Q) 1.5 0 0 C'9u ITtU orGirrlPl@)!D1';;ffiuuL@mffi19J. @i5""GM C'9U ITtU 1350';;@) 6lS1liJJDITGil
i5m~u"l-Ifi5GDi5til orGirrGM? .

(A) 20% (B) 15%

(C) 10% (D) 7%

A sum of money triples itself at 8% simple interest per annum over a certain time. Then the
number of years is

(A) 30

\fIIIf 25

(B) 15

(D) 10

(B) 5: 4

~ 25:64

32.

~<'9 @)!D1utSlLL ~1fQ)IT""19J 8% QJL"l- GDi5:'!;i5IGil(YlGirr!J)JLDU;"ffiITffi or@::b19J.;;QffiITm~tb ~6liM@ffim

(A) 30 (B) . 15

(C) 25 (D) 10

If the volumes of two cones are in the ratio 1:4 and their diameters are in the ratio 4:5 then
the ratio of their heights is
(A) 1 : 5

(C) 5: 16

@<'9 ",,-til Y ffiafl Girr ffiGM~ ffi6lj ffiafl Girr 6lS1&Ii5 til 1 : 4 LDliJ!J)Jtb ~ QJ liJ!D1Girr 6lS1LU;" ffiafl Girr 6lS1&li5 tb 4 : 5 or ~ Gil
~ QJ liJ!D1Girr"-lU ~"" ffiafl Girr6lS1&Ii5 tb or Girr""?

(A) 1 : 5
(C) .5: 16

CUGS/19 14
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33. (0 _b)3 +(b-eY' +(e-oY'
9(0-b)(b-e)(e-o) =?

~113(A) 1

(C) 1/9 (D) 0

(o-b)"+(b-e)"+(e-o)" _?
9(0 -b) (b - c) (e - 0)

(A) 1

(C) 119

(B) 113

(D) 0

.34. The radius and length of arc of a sector are 10 em and 15em respectively. Find its perimeter

(A) 15em

\J}II'f 35 em
(C) 25 em

(D) 30 em

\jlQlj GULL8;CB;rr_u U@)15M1m'61SlG\J6lSlm '£GTTLO15 GIf.LOLDJD!!JILO~~LO 10 GIf.LO Gr~6\l <&I~m B;!DiDGTT6IDGU8;

a;rrOOB>

(A) 15 QIf.u5

(B) 35 GIf.LO

(C) 25 QIf.Jl

(D) 30QIf.u5

35. Find the total amount, if 12%of it is ~ 1080 .
(A) 28,000 Rs. . . '\/tIf!(' 9,000 Rs.
(C) 18,000Rs. (D) 10,800Rs.

\jl@ G~rr6IDB;u5Im 12%Grmui9I (!ljurrLiJ 1080Gr~G\J <&I~G~rr6IDB;6ID(lJ8; B;rr6MrB;

(A) 28,000 (!ljurrLiJ (B) 9.0~0 (!ljurrLiJ

(C) 18.000 (!ljurrLiJ (D) 10.800 (!ljurrLiJ
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36. Which of the following materials was mainly used in the manufacture of Indus seals?

(A) Limestone (B) Terracotta

(C) Silver .,;;Jf'Steatite '

£Gw QffiITG'ffiffiUUL...G";irffi or)i;i!i QUIT(!9L...ffiffil6iJ aI)i;i9I IflDQQJffil )!JITffirrffi C'Pib~""~ffim i!illJITrrlffiffi

UllJrnUG'ibi!iUULU;~?

(A)

(C)
(B) ffiL...L lD600T

(D) QlDrn ffi!Dffim

37.' Pick out the two books written by vishakadatta

I. Kavya Dharsha

II. Madrarakshasha

III. Kundamala

IV .

..vt!"
(C)

Devi Chandraguptam

II andIV

III and IV

(B)
(D)

I and II

II and III

I. ffiIT6lI1llJ i!irrllf6OTLO

II. C'Pib~ ~ITffiIfIfLO

III. @i)i;i!i lD IT"" 6U

IV. , Gi!i6ll11f)i;~~ @iUi!iLO

(A) II lD!D(!)JLOIV (B) I lD!D(!)JLOII

(C) III lD!D(!)JLOIV (D) II lD!D(!)Jt.DIII

,
38. Who was the author of "Nyaya darsana"?

~ Gautam rishi
(C) Kapila

")blllJITllJ i!irrlif6OTLO" orrnw iPIT""6U or@~llJQJrr llJITrr?

(A) Qffiffii!iLO rrl~

(C) ffit516Urr

(B) Kanada rishi

(D) Patanjali

(B) ffirn60TL rrl~

(D) ui!i~1f6lSl

CUGSI19 16



39. Which was the famous festival in the Vijayanagar Empire?

. (A). Mahasivaratri

~ Mahanavami'

(C) Dhasara

(D) Deepavali

6>Sl!BlUJ!i/JigU c:U g g"ku ~ it1/Ji CY'ffi£llU ~~ 6tH;' QuJDrD1Q9!Dib it1Q96>Sl!Jl IT<Of~ ?

(A) LD~IT 61GlJgIT~it1IT1

(B) LD~IT J!iGlJuSl

(C) iboogIT

(D) ~UITGlJ.rr1

40. In which year the Deccan Edu,cation Society was founded?

(A) 1856
(B) 1874
(C) 1882

~ 1884
ib8;/JiITmr /Jiru6lSl ifCY'ibITlULb <Of!Dib~""'ffil ~)!,lIGlJUUL-L~?

(A) 1856
(B) 1874
(C) 1882
(D) 1884

41. What percentage of salt is found in the river water?

(A) Only 4% (B)' Only 10%

(C) Only 5% \Jliff Only 2%

~JD)!,lI P; IT1ru /JiIT_U U Lffi/ffi."l-lU 'LU L516irrifib6lSl£1ibLb <Of6irr6.r?

(A) 4% LDLffilLb (B) 10% LDLffilLb

(C) 5% LDLffillb (D) 2% LDLffillb

17 CUGS/19
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42. Which of the following are the major source of marine deposi.ts? .

(A) Terrigenous sources (B) Volcanic eruptions

(C) Marine plants and animals ~ All of these

g W 8;1J>.m-L GlJrDw 6IT6T..,GlJ IJ>L 6\l"l- U"l-6l.j IJ>ffilGUey>~6OT'" LDUJIT"'''' GlJ?. .
(A)
(C)

Q L1f11£16Ol1UJdv GlJmriulJ>6IT
IJ>LGU~ITGlJ~ LOWWLb6lSl6\lriuBJ."riulJ>6IT

,.1.' .

(B) 6TrflLD..,6\l QGlJ"l-~~QUITQ1jL.IJ>6IT

(D) .G:LDrD""-rDJUJ <!91"'''' ~i91 Lb

43. Which of the following is a coral Island?
(A) Maldives

(C). Andaman & Nicobar
(B) Mumbai

~Lakshadweep

g~8;IJ>OOLGlJrDW6IT 6T~~6l.j uGlJm~~6l.j 6T6OTW<!9I"'~8;IJ>UU(b1BJ6OTlDi9I?

(A) LDIT6\l~~6l.j (B) ey>Lb..,u

(C) <!9I,lli~LDIT6OTLDrDWLb)bl8;G:IJ>ITUITrr (D) .@6\lL.8'~~6l.jIJ>6IT

44. The average time interval in between two successive high tides is?

(A) 6 hI's 13 mts. ~12 hI'S26 mts
(C) 24 hI'S50 mts (D) 18 hI'S39 mts

Q~ITLrr ,,-ifB', Jb8' 9~riulJ>~8;BJ"'LUUL.L 8'~IT8'rfI G:JD~.@"'LQGlJffil

(A) 6 LD...rrI 13 )bltDILLb (B) 12 LDOOl 26 )bltDILLb

(C) 24 LD...rrI 50 )bltDILLb (D) 18 LD...rrI39 )bltDILLb

45. The presence of abnormal amount of sugar in urine referred as

(A) Polyuria (B) Nocturia

(C) Hyperglycemia Vi/l'ff' Glycosuria

51WJb~1J>~!bIGU<!9I!bI1J>LDIT'" <!91m 6l.j 8'rr8;1J>'" ~ IJ>ITmU U (b1GlJi9I

(A) UIT615I\hj,rflUJIT • (B) JDIT8;"l-\hj,rflUJIT

(C) "'iillDuurrBJ..,m6tD1UJIT (D) $l..,m8;G:IJ>IToo\hj,rflUJIT
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46. Who is the chairman <ifNITI Aayog?

(A) V.K. Saraswat

(C) Arvind Panagariya

.@~ ~C:UJITB;B;1.N~""Q)GtJir UJITir?

(A) V.K. ••g.mGtJ~

(C) ~ir6l5l)i>~ u"'-ffiITiIlUJIT

~ Narendra Modi

(D) Bibek Debroy

(B) )DC:g)i>~gC:LDITLq-

(D) t51C:UB;Qu:'gfTIu

47. After India's independence as a part of land reforms the actual abolition of intermediaries
. . .

started with enactment of legislation in

(A) Assam

(C) Gujarat

(B) Bengal

¥Madras

8i~)i>~g ~)i>~UJIT6l5lQl .@Q)if.!'ir~0jp;~ )DLGtJLq-B;""ffiffi..rr1Ql~0j u@i~UJITffi,~""L~~gffiir8;""W ~W1uUiD!DffiIT"'-

"LUi> QP~.NQP~6IS1Ql~C:Q)ITIf1B;ffiUULLI9J

(A) ~.m.n)fTLil

(C) @ill,WIT~

(B) QulfuffilTQl

(D) Q••.N",,"'-

48. The main problem of India's heavy population pressure is due to

(A) Government welfare schemes conducive for increasing birth rates

(B) People's increased standard of living due to increase their income purchasing power
level will increase birth rate ...

""'" High level of birth rate coupled with falling death rate
(D) Failure ofthe governments population control measures

~)i>~UJIT6l5l.N~~8i LDB;8iciTQ~IT""ffi ~LP;~B;8iIT"'- QPB;B;1UJ/JiITg_Lil?

(A) ~glf1.N)DQ)P; ~LLlfufficiT t51!DULj6l5lB;1~~~ffiillut51!D@i "ITiDffiLDIT&>LciTwl9J

(B) LDB;/Ji..rr1.N~~ffiillB;B;1.N!D GtJIT\9B;""ffi ~gLil, GtJ0jLDIT..,-LilGtJITIfu@ilo "B;~ t51!DULj 6l5lB;1~~",,~

~~ffiillB;@ilo

(C) ~~&iIlB;B;1.N!D t51!DULj6l5lB;1iDtbI9JL.N@i",,!DB;1.N!D~!DULj 6l5lB;1~lo

(D) ~glf1.N LDB;&ciTQ~IT""ffi &L@UUITL@ ')DLGtJLq-B;""ffifficiTC:~ITQl6l5l
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49. The International Day of Peace Day is observed around the world each year on ?

(A) September 20

(B) September 23

\JIIf'" September 21

(D) September 22

(A) G8'ULlDUrr20

50. Mervyn Rose, who passed away on July 23, 2017, was associated with which sport?

(A)

v/
(C)

Football

Tennis

Basketball

Baseball

(A) ,"rr~u,ri;~

(B) Gu;M..,oiu

(C) """'LU,ri;~

(D) .G,;,oiuu,ri;~
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51. Which court declared "Right to privacy on Fundamental Right "?

(A)

(B)

(C)

~

High Court of Allahabad

Madras High Court

High Gourt of Jammu and Kashmir

Supreme Court of India

"i!iml."lD ,,-rTl"'lD Gf6oTU19I<9ILq-UU."L "-rTl.,,lD" Gf'" Gf!iii!i .£:51lD6oTlDtil <9IrD16lS1lbi!i19l?

(A) <91Q)," rru iTIb "- UJif.£:51Ll)6oTlDtil

(B) Q 1F6oTrn... ,,-'.u if.£:51lD60TlDtil

(C) m tilCY''" rr~ til if "-UJ if.£:51lD 60TlDtil

(D) @!ii:51UJ "-iflF.£:51lD 6oT!Dtil

52. Which country has declared sugarcane juice as its national drink?

(A) Germany

(B) Srilanka

$' Pakisthan
(D) Bhutan

'"Q9 til Y IFrr!D"'!D ~i!i51 UJU rr"'lD rr'" <91rDl6lS11bi91mm )Drr(1' Gfi!jI?
(A) QmifQlDml

.(B) @Q)riJ.","

(C) urrffil.roi!irr6oT

(D) ~L..Lrr6oT

53. Which country of the following is not the member of SAARC?

(A) Bangaladesh (B) Bhutan

# China' (D) India

(A) 6UriJ,"rrm ~i!ilFtil

(C) 9•••rr

21
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54. Which force to use "Invisible laser wall Karach" to secure border of India?
(A) RPF

~ BSF

(B) CRPF

(D) CISF

OflfJlb ";ITQJQ) U""LWIT"'~ ,"Invisible laser wall Karach" Of6irru""lbu uw6irru@li;!51 OfQ)""Q)""W8;
";IT8;$16irrlD~ ?

(A) RPF

(C) BSF
(B) CRPF

(D) CISF

55. Which State Govt. launched the "Scooty for college Girls scheme" in 2018 by the PM of
India?
(A) Assam

...;II!f" Jammu and Kashmir
(C) Uttar Pradesh

(D) Madhya Pradesh

"";Q)~r\lLDIT_GlS1";\58;";IT'" "",""-L"l- !51LLlil" Ofliilb LDIT)BlQ)<&IIJ"ITQ)2018-Q) ~QJffiJ";UULL~?

(A) <&I"",Q\) lTLil

(B) 1J6LbC!?LDIDlJ)ILb";1T~tliIT

(C) '"-1i;!51lJu t51IJGIb"Lb

(D) LDIi;!51wu t51IJGIb"Lb

(B) Haryana

(D) Bihar

special family penSIOn for Widows of Govt. employees killed by

Punjab

Jarkhand(C)

Which state restores
terrorists?

~

56.

~GlS11JQJIT!51";",TITQ) u@Qo$lT""Q) Q "tiJ UJUULL <&1'1In ""'W1WIT";61fl6irr LD""."GlS1LDITIT,,;\58;@j <&IIbITQJ~
"GlS1Ib""QJ $\58;,,; IT." 81lDULj @j@Lbu ~ tiJ ~!51 w Lb" Of6irr$16irrlD !51L L Lb OfIiiIb LD1T)Bl6IJ' <&1'1"ITQ) tli orr Ii;
~QJ8;$UUL-L~? .

(A) U~"ITU

(C) 1J6ITIT";6OML

(B) ~r\lWIT"'1T

(D) Q";ITIT
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57. The first medicine developed by US for nerve injury using biodegradable wireless device is

(A) bio-mechanical medicine (B) bio-technical medicine

~ bio-electronic medicine (D) none of the above

LD8;@iLDI6LD~uSlGil6lJIT/fIT!5f<!t.DQI6IT6lim"0 ~QLDrTl8;161T "--('96lJIT8;$1"-1ffiffi )D~LDLj/ft.Du)!>!5 6>51llJIT~8;I6ITf<!LD('9)!>~

(A) ,,--USlrTIllJ.@llJ)!>~ ~6>51llJGilLD('9)!>~ (B) ,,--USlrTIllJQ!5 IT~ Gil!91LU LD('9)!>~

(C) "--uSlrTIllJuSl.., f<!@I6>51llJGil LD('9)!>~ (D) .@6lJ!Dp5lGilGr~ 611uSlGilo<>6lJ

58: A new frontier of drug design employing small stretches of complementary DNA and RNA is

(A) pencillin ~ oligonucleotides

(C) ampicillin (D) ciprofloxacin

"I-.Gr"'.GJ LD!D19JLDqj,IT'''''''.GJ 6>51.., 61p5lllJ )bffi )bI~ULjI6O<>ffi ullJ..,u0ib~ LD('9)!>~ 6lJ"I-6lJO<>LD8;@iLDLj~llJ
GrGilO<>6lJ

59.

(A) Qu..,61Q\l..,
(C) qj,t.D~61Q\l..,

The first solar boat designed in India was

(A) Sonnet

. (C) Gagan

.@)!>~ llJ IT6>51.., (!J'!5Gil G/fIT6lJITITU L@i

(A) G/fITf<!L

(C) 1616'"

(B) qj,Q\lGI6IT)bI \!,j,8;Q\lGllJ ITO<>LLoiu
(D) 61uG~IT:o~ffilT8;GQU61..,

~Surya

, (D) Aries

(B) @;ITllJIT

(D) qj,rroiu

60. The maximum efficiency of a half wave rectifier is

(A) 81.2%

$ 40.6%

(B) 41.6%
(D) 42.6%

9('9 ~O<> ~ ~ 0<>6lJ~('9ibffi1 uSl.., ~~I6U LL U llJWJ19J ~ J]Jf<!ITf<!~

(A) 81.2% (B) 41.6%

(e) 40.6% (D) 42.6%

23
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6l. 1 amu is equivalent to

(A) leY (B) 931 eY

(C) 931 KeY
~

931 MeY

1 amU GTGNui9I iiilib!D@) IfLDLDIT61lTi9I

(A) leY (B) 931 eY

(C) 931 KeY (D) 931 MeY

62. Who founded "Servants of Indian Society"?

(A)

(B)

~
(D)

Bala Gangadhar Tilak

Motilal Nehru

Gopala Krishna Gokhale
,

Lala Lajpat Rai •

"iiil )i;i51UJ GIfGlJ" IT"cir IfffiJ"~"'ib" GJ!DU G\ ~i51 UJGlJITUJ ITIT?

(A) UITGU "ffiJ"ITib~ i51GU"IT

(B) G LDITi5IGUrr<;u G 1l'Q'j

(C) G"ITUITGU 8JQ'jcil- G"IT"GGU

(D) GUITGUITGU1Jlui5I ~IT.u

63. In 1876, the Indian Association was founded by

(A) Madan Mohan Malaviya

(B) . Tej Bahadur Sapru

¥ Surendranath Banerjee

(D) Woomesh Chandra Bannerjee

(A)

(B)
(C)

(D)

CUGSI19

Qibl£ u"i9J1IT IfUQ'j

8iG~)i;i51~Il'IT~ UIT61lTIT~

"- G LDcillf)i;i51 ~ U IT61lTIT~
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64. Subash Chandra Bose founded the Forward Blocin the year

(A) 1938 ¥ 1939

(C) 1940 (D) 1941

(A)

(C)
1938

1940

(B) 1939

(D) 1941

65. Which one of the following dates was celebrated by jinnah asa "Day of deliverance' from the
rule of congress?
(Al . November 1, 1939 .

~ Decertber 22, 1939
(C) October 17, 1940

(D) December 2, 1940'

S; ITnil .$IIJOO ~LU1 uSlQ\1(Ilj)i;191QSl@~<;o)Q) Q u !D!D)li ITmIT s; .$~ s; IT@tD "-)i; i!' )li IT<;0)m ~""' 6lITITQS;IT """' LIT "l-6lITITr'r?

(A) )liQJtDur'r 1. 1939

(B) "l-IftDUr'r 22, 1939

(C) <!'lI"'~LITUr'r 17,1940

(D) ~lftDUr'r 2,1940

66. Sta~nformation Commission was created by
~ Right to Information Act,2005
(B) Information TechnologyAct, 2000

(C) Whistle Blowers Protection Act, 2011

(D) Sashastra Seema Ba1Act; 2007

LDIT)£l6\l~ i!'s; 6lJ GU<!lb<;o)6o.rW ~<;o)i!' "-(Ilj6lJ IT•••.$1W 191

(A) i!'S;6lJGU ,,-i\l<;O)LD5 IfL-LtD, 2005

(B) i!'S;6lJGU Qi!'IT~GU~L..U5 IfL..LtD. 2000

(C) i!'S;6lJGU Q6lJffiI •••Qs;IT_r'r~6lJITr'r UITi9JS;ITUlj5 IfL..LtD. 2011

(D). IfITifITOO~IJIT 9LDIT UITGU IfL..LtD, 2007
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67. Which one of the following state is not a having bicameral legislature?

.~ Madhya pradesh.

(B) Uttar pradesh

(C). Bihar

(D) Karnataka

(C) QdifTIT

(D) diir)!iITLdiIT

68. Comptroller and Auditor General Retirement Age is.

(A) 60

(B) 62

~65

(D) 70

(A) 60

(B) 62

(C) 65

(D) 70
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69. Which part of the Constitution deals with official languages?
~ Part XVII . (B) Part XIV
(C) Part XVI (D). Part IV-A

~~61tlJ6\l6"Ulut51ru 6T)i;!!iU@j~ ~L61 QUlrrWl u!DiDl GlSlQJrIl.;;$l!Di9I?

. (A) U@j~ XVII (B) U@j~ XIV

(C) U@j~ XVI (D) U@j~ IV-A

,70. The PESA act was enacted in the year
(A) 2015 (B) 2016

.JIf 1996 (D) 2018

tS"rr "LuD 6T)i;!!iQJ(l9LLD@tlJ!D!DuuLLi9I?

(A) 2015 (B) 2016
(C) 1996 (D) 2018

7L Which of the following are not the concerns of the UPSC? .
.L Classification of services
2. Promotion
3. Training
4. Disciplinary matters
5. Talent hunting
(A) 2, 4 and 5 (B) 1, 3 and 4¥ 1 and 3 (D) 1 and 4

g\9B;6Wc:.1il~W UlIb~tlJ u~tlJrrQ"Tir CitirQJrr6"_tlJlb~~ u.ml ~ru6\l

L u.ml QJ6"B;uuG'lbiDru

2 . u.ml "- tlJ IT6lj

3. ut61!D61 ~.rr1lbiDru

4. 1il<':Yfi.J@j )D L QJ"1-';;6"B;

5. ~ !D6IIT!D1)i;iDru

(A) 2, 4 Ul!DWLb5 (B) 1,3 Ul!DWLb4

(C) 1 Ul!DWLb3 (D) 1 Ul!DWLb4
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Phosphate and sugar

Phosphate and Nitrogenous base

72. Difference between RNAand DNA is that of

(A)

(B)
(C) Nucleoside and nucleotide

" Sugar and nitrogenous base

~ir. GT6irr<OJ LDdJiJ)!Ul "f..GT6irr.<OJ -8;@iUl @""LtciI.u ,,-mm GQJiJ)!U rr(ij)GT6irruiijI

(A) urr.mGu L LDdJiJ)!Ul "ir ffia;""gtcil.u "-GiTmiijl

(B) urr.mGuL LDdJiJ)!Ul"")DL~rr1£l6OT.m Gu.m-.u ,,-mmiijl

(C) )bl \!d>8;61f1G u.J rr""" (ij) LDdJiJ)!Ul )bl \!d>8;61f1G tu rr"" L"f..u "- m m iijI

. (D) "ir8;a;",,~ LDdJiJ)!Ul"")DLgrr1£l6OTrr.u Gu.m-.u ,,-mmiijl

73. How the Dracunculiasis disease transmission takes place?

'" Consumption ofwater containing cyclops .. .
(B) Inhalation of polluted air

(C) Consumption of snail

(D) Consumption of contaminated food

"f.~rr@i6irr@i61f1turr81.mG)DrruJ u g6>4ib.u GTruQJrriJ)!)D"" L Q u iJ)!B;1 !DiijI?

(A) """8;mrru.m ,,-mm ib6liM..a",,~ "-,LQa;rrmQJibrr.u

(B) LDrra;a;rrdJ""!D a;QJrrlfluuibrr.u

(C) )D:2;""ib""tu "-LQa;rrmQJibrr.u
(D) Qa;LL "--6>4u Qurr(i!i""m "-LQa;rrm~QJibrr.u

74. Similipal is

(A) Sanctuary

(C) National park
~ Biosphere reserve

(D) Zoo

(A)

(C)
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75. What will happen when hydrazine solution is added to copper II sulphate solution?.' .
'cAl A copper mirror is produ~ed

.JJ1!'" A coppe~'mirror is produced and the blue colour fades

(C) A copper mirror is prQduced and green colour appears

(D) Colour changes from blue to green

76. Which alloy of Aluminum is used in boat machinery?

(A) Magnalium

$ Duralumin

(C) Nickeloy

(D) Alnico
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77. The sum of the digits of a two digit number is 15 and the difference between the digits is 3.
What is the two digit number?

(A) 69

(C) 96

(B) 78

~ Cannot be determined

.@(f1j .@6\)8;ffi GT6ri!T...rI rn .@6\)8;ffiriJffiGTf)rn ""-0::SQJ 15, ~ @J(br61rn 61SI!i~ llJ IT" LD3 GT60\1QJ ~ P;::SGT6ri!T llJ IT~? .

(A) 69 (B) 78
(C) 96 (D) ffiIT_.@llJ6\)IT~

78. S varies directly as R varies and T varies inversely as R varies. At a time R = 20, S = 40 and
T = 10. If R is changed to 10, then the value of T will be

~ 20 (B) 1
10

(C) 40 (D) 80

S-rn LDIT(biDLDrr6O!~ Rrn LDIT(biDib~(b@j G)liir LD6OliDllJITffi6ljLD. T -6'0< LDIT(biDLDIT6O!ij)!R-rn LDrr(biDi5~(b@j GT~ir

LD6OliDllJITffi6ljLD ,,-m6lT~. \j>(f1j "LDllJLD R = 20, S = 40, T= 10 GTGMiDLD~ULjffi6Ol6lT QU(f1j8;l!Dij)!. R-GM ,LD~ULj

10 GTrnQ)l ~6OlLD'YLD GUITij)! T -rn LD~ULj GTrn6O!@JITffi .@(f1j8;@j

(A)

(C)

20

40

(B)

(D)

. 1
10

80

~/9. H 1, h' 3- 1 ?ow many - s are t ere III 1- .

./ 8 2
'iA 300
(B) 400

(C) 500

(D) 200

(A) 300

. (B) 400
(C) 500

(D) 200
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384
540(A)

Which pne of the following shows the highest percentage?

. ~425
500

80.

(C) 570
700 (D)

480
Mo

(A)

(C)

384
540
570
700

(B)

(D)

425
500
480
660

81. HCF of 2" x3' x5,

(A) 30

(C) 48

(A) 30

(C). 48

(B) 60

(D) 105

. 82. A is B's brother. Cis B's daughter. D is C's daughter. A is ------ of D.

¥ Grandfather . (B) Grandmother

(C) Son (D) Daughter

A ,"~UQJIT B-W1~ ,'fGffiIT!!i~~ C ,"~UQJIT B-W1~ lMm. D ,"~UQJIT C-W1~ LDffim ,"~Q.>A ,"~UQJIT

D-W1~------

(A) !!iITI1>!!iIT

(C) LDffi60T

(B) UITLLq-

(D) LDffim

83. Which of the following figures has the abscissa of points on mid values of the class
intervals?

(A)

(C)
Histogram ,I

Frequency curve

(B)

~

Frequency polygon

(B) and (C) both

,$~ ffiITWJLb QJ "" ~U L,," ffimIQ.> '" "" QJ qj,llJ 11>Q !!iIT"" 6\J6lj L.jm mIffi"" 6TT QJ @iu L.j iii) "" L Q QJmIW1 ~
"" LDllJ UL.jm mIffi6TTITffili; Q ffiIT6lirr 0 m 6TT6OT?

(A) i£lffi~QQJ6lirr Q,'f@JQJffiLb

(C) i£I ffi~ Q QJ 6lirr QJ."" 6TTQJ "" ~

(B) i£lffi~QQJ6lirr U6\JGffiIT6llllTLb

(D) (B) LDrDIDJLb(C) iii)~6lirr0Lb
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84. If 0.75:x::5:8. Th.enxisequal to

(1\) 1. 12

(C) 1.:25

0.75: x : : [) : 8 GT6m1ruX-GITr LD:VULj Cl)rTOO.

VJIIf'1.20
(D) 1.30

(1\)

(C)
1. 12

1.25

(B) 1.20

(D) 1.30

85. The sum and product of two numbers are 12 and 35 resply. What is the SUIll of their
reciprocals?

(1\)
.13 /12
35 35

(C) 14
(D)

15
35 34

@ ~6lirr (i) G.T__ '" g,. ""- L (ijlQ i" IT""'" 12 Q U@8;@;Q i" IT""'" 3 5 G.T~ W . c&I i"@I""LUJ i" "" Q)9,~ G.T6lirr '" GTfI""

""-L(i) Q i" IT""'" G.T"" 6J)l?

(1\)
13

(B) 12
:35 35

(C)
14

(D)
1:',

:35 :34

86. The least perfect square number which is divisible by 3, 4, 5, 6 and 8 is

(A) 900

(D) 1200 .

(C) 2'-,00

oJPf 3600

(1\) 900

(B) 1200

(C) 2i,OO

(D) 3600
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87. The volume of the eube is 729 em"' Wh~t is the length of the diagonal.

(A) .9.,fi em,

¥ 9../3 em

(C) 18 em

(D) 18../3 em

(A) 9.,fi GlIf.tB

(E) 9../3 GlIf.tB
I

(C) 18 GlIf.tB

(D) 18../3 GlIf.tB

88.

~.

S' If (893 + 786)' -(893 -786)'
lInp 1 y (893 x786) .

~4

(E) 5

(C) 6

(D) 3

(893 + 786)2 -(893 -':'786)'
I'@ffi@iffi • (893 x786 )

(A) 4

(B) 5

(C) 6

(D) 3
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89. Which Delhi Sultan is called as 'A slave of a slave'?
(A)

(B)
(C)

~

Balban

Kuth-ud.din Aibak

Raziya

Iltumish

,<&I"1-"" lDu51.., <&1"1-"" lD' '""'!D ""Wffi8i UU LL G1UTI 6i5I 8iGiJ~ IT.., UJITIT?

(A) UITGiJu..,

(B) @lib Lj i51'" <&IliJ U ffi

(C) ~o4IUJIT

(D) @GiJL(b1u51Gi<f

90. The foundation for the Vijayanagar city and Kingdom was laid by
(A) Deva Raya

(B) Mallikarjuna

(C) Narasimha

" Harihara and Bukka

. 6>111£UJ!D8i ~ !D8i ~ lD u:,rDiJ)IlD <&I~"" If ,lliIiJ)IQJ <&1"1-G8i IT6i5IUJQJ IT8i <>iT

(A) G~QJ~ITUJIT

(B) . lDGiJ6i5l8iITITI£~61lTir

(C) !D~61lD~IT

. (D) ~rrl~~IT lDrDiJ)IlD Ljffi8iIT .

91. Who laid the real foundation of Portuguese power in India?

(A) Vascodagama \/II!f' Albuquerque
(C) Thomas Roe (D) Colbert.

(A) QJITduG8iITL8iITlDIT

(C) ~ITlDdu G~IT
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92. The daily range and temperatu~e of surface water of the ocean is

(A) 4°C

~ 1°C

(C) 3°C

(D) 5°C

8iLQ\)~ GLDrDUIJUUIT6m19l-&l6!lLllJ8;II"-"l-llJ 8;LQ\)~ GLDrDUlJuLj QUQ)lLD ~6mifITI iflJITifITI QQJUU 6SibLD ,"~6m?

(A) 4°C

(B) 1°C

(C) 3°C

(D) 5°C

.1 & 2 only

2 & 3 only

3 only

93. Which is the following is the marine deposits?
1. Sands
2.. Salts
3. Ocean materials
4.. Clay and Mud
5. All of these

(A)

(B)
(C)

.,pf. 5

lliG\Jl Q8iIT(j;\8;8iUUL(j;\GiTmQJrDJD16iJ O;r6!lQJ 8iL611"l- u"l-6lj8iGiT ~@)LD

1. LD_6iJ

2. "-uLj8iGiT

3. 8iL6iJ QUIT(I1jL8iGiT

4. 8i 61f) LD.m LDrDQ)ILDGifQ)l

5 . GLDrDII"-JD1llJ -&l6!l6m ~i9I LD

. (A) 1 t.DrDQ)lLD2 LDL(j;\LD

(B) 2 LDrDQ)lLD 3 LDL(j;\LD

(C) 3 LDL(b1LD'

(D) 5
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94. The Minimu~Wages Act was passed in the'year

(A) 1947

~ 1948

(C) 1949

(D) 1950

(A) 1947.

(B) 1948

(C) 1949

(D) 1950

95. .Which one of the following is an indirect tax?

(A) Wealth,tax'

, Service tax

(A) Q"IT ~i9JGU rII

(C) G"""GU GUrli

:

(B) Expenditure tax

(D) . Income tax

(B) Q"6UGlj GUrli

(D) GU(I1jLDIT6J5TGU rII

96. The Gross Domestic.Product per capita of Tamil Nadu in the year 2015-16 is

(A) Rs. 99,482 . . ~Rs. 1,43,547 •

(C) Rs. 2,40,320 (D) Rs. 1,20,245

(A) (Ilj. 99,482

(C) (Ilj 2,40,320
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97. The growth of pollen tubes down the style is due. to
(A) Hydrotropism (E) .Traumatotropism
(C) Thymotropism ~Chemotropism

LDIW)l>~@j~ITuJ 6UffiiriFI1IUJ""L)l>i91 ~fU ~6iMLq-""601 G)DIT,,8i!6UQ!>6U~!D@j

(A) ,£ir)DITLUD (E) "-ffiQ!Di51Q!>6<llITirGlj@UJ"a;u,

(C) u!DW )DriLL@UJ"a;u, (D) G6Ui51 )DITLLU,

98. Flavonoids mostly accumulate in
(A) Chloroplast
..y Vacuole

(E) Chromoplast
(D) Cytosol

""ot51ffilT6U601ITuJ(!)a;ffiQUITi9I6UITa; i51~6iM(!) a;IT6<llITuu(!)6Ui9I@i51fU

(A) @jGffiITG~ITt5IffiITOOL (E) @jG~ITGLDITt5IffiITOOL

(C) 6UIT"@jGUJITfU . (D) l1IooLITfU

99. Which one of the following is not a problem in estimating the National Income of India?
(A) Double counting (E) Unreliable data
(C) Unaccounted income ~ Presence of large number of enterprises

t51..,6U Q!>6U6016U!DWffi @)l>i51UJITG6IfUG~1ll UJ 6UQ!>LDIT601it""~ ""I ffiG61(!)6Ui51fU 11I"a;fU ""IfUQ)ITiD V''''W 6r i91?

(A) @Q!>C'P""!D a;6<llIT,,8i!(!)iDfU (E) )Du,uit~a;rra; Ljffiml G616U~ffiJa;ffi

(C) . a;6<llIT ,,8i!fU a;ITLLU u LIT~ 6UQ!>6UITuJ (D) ~i51a; 6r6iM6llOfI"""a;u51Q)IT601)tiW6U601ffiJa;ffi

100: Capital formation of a country depends on
¥ Savings

(C) Standard of living of the people
(E) Marginal propensing to consume
(D) Income of the people

V'Q!>)DITLLq-'" (YlQ)~601 ~"a; U, 6r "" ~iF If ITir)l>i91ffi ffi 191?

(A) GlfuSluLj (E)' @wi51)ti""Q) !JjIa;irGlj )DITLLU,

(C) LD"a;ml.., 6UITW"""a; )ti ""Q) (D) LD"a;ml.., 6UQ!>6UITuJ

37 CUGS/19
[Turn over



CUGS/19

•

SPACE FOR ROUGH WORK

. ,

38



13

SPACE FOR ROUGH WORK

39 CUGS/19
[Turn over



CUGS/19
Register
Number

.. '.. ,

2019
GENERAL STUDIES

Time Allowed: 2 Hours] [Maximum Marks: 200
Read the following instructions carefully before you begin to answer the questions .•

IMPORTANT INSTRUCTIONS

I.
2.

3.
4.

8.

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.
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response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.
In the Answer Sheet there are four circles 0 ,@, @ and @ against ea'ch question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, @ is the correct answer, you have to mark as follows:

0.@@

••

9. You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded. you must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with vou only after the Examination is over.

10., Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.,

1I. In all matters and in cases of doubt, the English version is final. •
12. Applicants have to write and shade the total number of answer fields left blank on the boxes provided

at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

13. Failure to comply with any ofthe above instructions will render you liable to such action or penalty as
the Co~mission.may decide at their discretion. .


	00000001
	00000002
	00000003
	00000004
	00000005
	00000006
	00000007
	00000008
	00000009
	00000010
	00000011
	00000012
	00000013
	00000014
	00000015
	00000016
	00000017
	00000018
	00000019
	00000020
	00000021
	00000022
	00000023
	00000024
	00000025
	00000026
	00000027
	00000028
	00000029
	00000030
	00000031
	00000032
	00000033
	00000034
	00000035
	00000036
	00000037
	00000038
	00000039
	00000040



